31 A large water basin is in the shape of a right cylinder. The inside of the basin has a diameter of

1
55

cubic feet of water that it will take to fill the basin to a level of % foot from the top.

feet and a height of 3 feet. Determine and state, to the nearest cubic foot, the number of
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Part III

Answer all 3 questions in this part. Each correct answer will receive 4 credits. Clearly
indicate the necessary steps, including appropriate formula substitutions, diagrams, graphs,
charts, etc. Utilize the information provided for each question to determine your answer.
Note that diagrams are not necessarily drawn to scale. For all questions in this part, a correct
numerical answer with no work shown will receive only 1 credit. All answers should be
written in pen, except for graphs and drawings, which should be done in pencil. [12]

32 Triangle ABC is shown below. Using a compass and straightedge, construct the dilation of AABC
centered at B with a scale factor of 2.
[Leave all construction marks.]

Is the image of AABC similar to the original triangle? Explain why.
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33 In the diagram below, AABE = ACBD.

A

Prove: AAFD = ACFE
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34 A cargo trailer, pictured below, can be modeled by a rectangular prism and a triangular prism.
Inside the trailer, the rectangular prism measures 6 feet wide and 10 feet long. The walls that
form the triangular prism each measure 4 feet wide inside the trailer. The diagram below is of
the floor, showing the inside measurements of the trailer.

Cargo Trailer Floor

10 ft

6 ft

10 ft

If the inside height of the trailer is 6.5 feet, what is the total volume of the inside of the trailer,
to the nearest cubic foot?
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Part IV

Answer the question in this part. A correct answer will receive 6 credits. Clearly
indicate the necessary steps, including appropriate formula substitutions, diagrams, graphs,
charts, etc. Utilize the information provided for the question to determine your answer.
Note that diagrams are not necessarily drawn to scale. For the question in this part, a correct
numerical answer with no work shown will receive only 1 credit. All answers should be
written in pen, except for graphs and drawings, which should be done in pencil. [6]

35 The coordinates of the vertices of AABC are A(1,2), B(—5,3), and C(—6,—3).

Prove that AABC is isosceles.
[The use of the set of axes on the next page is optional. ]

State the coordinates of point D such that quadrilateral ABCD is a square.

Question 35 is continued on the next page.
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Question 35 continued

Prove that your quadrilateral ABCD is a square.
[The use of the set of axes below is optional. ]

A
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